Vander pole oscillator

Phase Space Diagram (x vs. x_dot) Time Series (x vs. t)
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mode = input (' (jox ¢+ cady 1)) Saobly 481y ol yue Lal g3 e
if mode ==

mu = input('Jl.x_i_a Lihlhl o wdS oylg Ty (oude I ada):

elseif mode ==

mu = 0;
else

error ('wisS oyly v Lo YV Lahl L obrelS so9y9.")
end

x0 = input ('yluads Lah]) x0 (dadgl Hldde X) JodS o,y |yt
v0 = input ('ylade Lial vO0 (4dgl Hlade X) wuiS dylg 1yt

tspan = [0, 50];
dt = 0.01;
t = tspan(l) :dt:tspan(2);

f =0, vy [y(@2); mu*(1l - y(1)"2)*y(2) - y(1)];

n = length(t);
y = zeros(n, 2);
y(1l, ) = y0;

')

')
')



for i = 1:n-1
kl = £(t(1), y(i, :)");
k2 = f(t(i) + dt/2, y(i, :)' + dt/2 * k1);
k3 = f(t(i) + dt/2, y(i, :)' + dt/2 * k2);
k4 = £(t(i) + dt, y(i, :)' + dt * k3);
v(i+l, :) = y(i, :) + (dt/6) * (k1' + 2*k2' + 2*k3' + k4');

end

figure;

subplot (2, 1, 1);

plot(y(:, 1), yv(:, 2));

xlabel ('x"');

ylabel ('x"');

title(' x vs x');

grid on;

subplot (2, 1, 2);
plot(t, y(:, 1))
xlabel ("gley (E)'
ylabel ('x");
title(' X over time ');
grid on;

) ;



